
Example using PDF+Latex in Inkscape 0.48.
Graphs do not render well in the final PDF

document.
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Figure 1: Notice the zero of the abscissa (X axis) is under the numbers of
the ordinate (Y axis), which is not the way it appears in the original .svg file
(included).

A workaround for this could be enclosing with {\tiny} all the numbers
in the graph by modifying the .pdf tex file (see the enclosed -tiny.pdf tex
file). Unfortunately the numbers are still misplaced:
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Figure 2: Making smaller the numbers of the axes makes it similar to the
original file. Anyway the numbers are still misplaced.
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